
Gallagher Animal Management   |   Private Bag 3026, Hamilton, NZ   |   Email: sales@gallagher.co.nz   |   www.gallagher.co

3
E2

3
7

0
 - 

0
9

/1
2

Upgrade Kit contains:

•  3 x Loadcell Kit

•  1 x DairyScale junction box

•  6 x DairyScale platform adaptor

•  6 x DairyScale foot adaptor

•  48 x M8X30 SS T304 cap screw

•  18 x M10x50 SS T304 cap screw

•  18 x M10 SS T304 spring washer

Tools required:

•  #6, #8 allen key/cordless drill and #6, #8 allen bit

DairyScale Platform 
Loadcell Upgrade Kit

Connecting cables to the scale Weighing Platform connectors

Installation

NOTE: use cable ties through existing holes under the steelwork to attach cable and junction box assembly.

Main PlatformLead On
Platform

Amphenol
Plug

Amphenol
Plug

IMPORTANT
• Apply small quantity of Loctite 501 to threads of all 

loadcell bolts prior to assembly.
• Use torque brench to apply correct tension to bolts on final 

assembly.
M8 cap screws    - 20Nm
M10 cap screws - 40 Nm


